x|2(13|4
y |4 8
> =
> &= 6

x 9] 27} y O Fro|B 2
y=3x2=6YYrt.




0|
,H__o

mj

[Oxx

1)y

20

16

12

8

[Jxx

)y

-

ull

A

— ™

e

ul

= 4xx

TH y o] o] El B2 x,y o] WALy

Ife)
Ho
min
<t
=
N
o
=T
= o

2y=

1




yol7t 99 cm? 91 ZIAFZE oA 7FE 9] Aol E xcem, MR 9] Hol&
yem 2l & off E-5of gotA e
(1) ch& 9] wigkol YL 48 YLK 2.

Z}2 x(em) | 1| 3|11 | 33

A= y(em)

(2) $19] Foll A x7} 20l 3u 4vi 2 WGt whet y= 2b2 [ [ ][]
7t El= BAof 54T

(3) 7125 xcm, A 2S5 yemt oAl x 2t y 7t tf-8-51] Wist= BAE
A0 2 LEHA| L

[ =i

[ =

> =

> JHE D () 83z
. 111

> ®EH (2)5,3,1

> A B axxy=99

~&B

(1) ZFEx(em) [ 1 [ 3 1133
AZy(ecm) | 99 | 33| 9 | 3

(2) 919] mAA] x7} 280,380, 4 ¥ = A GOl whet y= ZH2F
7} = TA ol EU

(3) 7F2E xcm, NI=ZE yeme} stal x & y 7t tf-3-ote] Wt
PAE A2 YepH x xy = 99 YUt}




20

25

100 | 50

Y

_6]3-

Yt
lo2 tehfA L.

)

D (2)xxy=100

(1) ye
(2) x

x o RHel ey,

= 100

XYy




® y=4=x

y=[_|xx BE Yehd Ao]
Zgule EAA YU




& Sy 7k x o BulskA &

AL BT T2AQ. (

g

o

®y=x=+5 @y:(ixx+4 (@)y:x—i—l

1
=-x
® y 5 XX

=

@ y+x=

2 7H)

B

el BAGLy = xx,
I BARE o [l B
@y=x=+5 (4

@y =6xx+4 (U= ot 1 ¥ & o)
@ y=x+1 (HHEE o1 Ple o)

@ysx= g y=7xx (B

4
@yz%xx(%”ﬂ]aﬂ)




7.

= SOl y 7h x o Wl EshE Ae BF A EAL.

@ny:i’) @ y=5xx @y:2+x

@ y=5+x-2 ® y=2+5xx

B

aree] BAA ey =[]

@ xxy =3 (5tu]=)

@y=>5xx (ZH=)

@ y=2+x xxy=2 (5e]&)

@ y=5+x-2 (A% §He[H = opdy )
®y=2+5xx (AHH)




= 5y 7bx ol WSk AS BF A=A (FE 2 7H)

D y=5-x @ny:i’) @ x+y=1

@ x+y=2 (@)y:6+x




